Monday Maths

54 + 32 =

65 - 24 =

11 x5 =

Challenge!

32 +

= 56

30 + 5 =



Tuesday Maths

14 + 34 = 58 - 44 =

bx6-= 21 + 3 =

Challenge!
45 = 28 +




Wednesday Maths

68 + 49 =

87 - 49 =

9xb =

Challenge!

55 -

= 36

80 + 10 =



Thursday Maths

3+ 45 = 46 - 23 =

6 x3 = of 30

(N[

Challenge!
- 20 =45




Friday Maths

b2 + 33 =

42 - 35 =

2x11 =

Challenge!

1 of

= 40

=

of 60



Each Fiveosauruz dinosaur costs 50p.
Which coinz could Tommy use to pay for one?

A Fiveozaurus is a toy dinosaur with 5 spikes.
Tommy's mum buys him & of them.
With hiz pocket money, Tommy buys 7 more
Fiveosaurus dinosaur toys.

How many spikes con Tommy ses?

..thare are toy dincsaurs with different numbaers of spikes?

& Fiveozaurus is o toy A Fiveozaurus is a toy dinosour with 5 spikes.
dinogaur with 5 spikes. Tormmy's mum buys him & of them.
How many spikes can he sea?
Tormmy's mum buys him With hiz pocket money, Tommy buys 7 mors
& of tham. Fiveosaurus dinosour toys.
1 How many spike: can Tommy ses now?

How many spikes

Tommy's brother hoz 11 Fveosaurus foys.
Ha says he con ses &0 spikes.
Iz he correct?

Explain how you know.

Multiphcation

(2, 5,10 = fads)
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